F1BORERY ZPVRY —XEHXINT ZAKSHEER

TR —TE
A JOwvD
wPh mEmH =H®Bm k™ AE | Bz
1 G o] 3-0 61,61,63] 3-0 606261) 2-0 1
2 ®@®@EMm | 0-3 (161636 2-1 (60,60,16) 014_218 2
3 =@B®H | 0-3 062616 2-1 (636336 01:715 3
4 BR® 1-2 060661 1-2 (363663 0-2 4
B Z0Owv”oD
3l ] JII 8 EIRD AAE | IBf
1 E™@m™H 1-2 (36,1665] 0-3 (36,2606] O-2 3
2 Jieamdm | 2-1 ©6361,56) 0-3 465606| 1-1 >
3 FIFH | 3-0 636260] 3-0 64,6560 2-0 1
CcC Jawvoy
=K =2Wm BB ™ AR | &M
1 =Kh 2-1 655662| 0-3 (16,26,16] 1-1 2
2 BWwm | 1-2 666526 1-2 ues2.16| O-2 3
3 BEG ™ | 3-0 616261 2-1 64,2661 2-0 1
D Z0OwvoD
fE & =T i B8 g | IEfI
1 Bl 3-0 6261,61] 3-0O 61,6464 2-0 1
2 Mgl | 0-3 261616) 1-2 64,1606| O-2 3
3 W\Em | 0-3 (164646| 2-1 466160 1-1 2




F140RERY PV RY —ABHXINT ZAKSHEER

160 b—F Ak
A-1 B N
B-1 = 13 21
— B 15 75
A2 mEm EEH =
C-1 kel 21 -
D-1 B 15 30
SHREE,
B-1 1R -
A-2 7= h 21
260 b—F Ak
A-3 =@ A
B-2 1| 75 30 5
~ >
Cc-2 =Kt 9 58 5
D-2 9 25 30
6L b—F Ak
A-4 % R
" 30
B-3 S/ s/
— 51
C-3 s B 05117
D-3 ik llGE 30




®UA ERDIER
RERV=TI29-2BBNRNT=2R¢
ARAR®

2015/10/10

SIRERAB>=X3—hk




